i
§

T

Your new Workmate is a quality piece of equipment that has been carefully designed and manufactured to provide years of dependable
F service.

This instruction manual will familiarize you with the Workmate. It lists important facts and features which describe the Workmate’s
construction and basic operating techniques. Set up instructions and various usage situations are also provided.

e TR

i Read this manual carefully. Only by being ’totally aware of what the Workmate can do will you be able to put it to the numerous tasks itis
; _ capable of performing. ) T T B -



SAFETY RULES

(1) Do not load with more than 100 Ibs. in horizontal angle positions.

(2) Do not use as a standing platform.

(8) Avoid applying excessive force when clamping using the swivel grips.

(4) Be careful not to pinch fingers between vise bracket and front support pak bracket.

(5) When making any angular adjustment with the unit, always tighten both wing nuts securely before starting to work on the unit.

(6) When using a power tool with the unit, follow the safety rules in the tool’s instruction manual.

(7) Wear safety glasses when using power tools.

(8) Never mount power tools directly in vise; pressure may damage tools.

(9) Sett’i(ng thﬁ unit up at any angle you must screw the unit down to your table or workbench with four screws supplied before starting to
work on the unit.

TABLE TOP WORKMATE MODEL #79-008-04

The #79-008-04 Table Top Workmate comes to you partially assembled. Additional assembly is required. For this assembly you will re-
quire a standard slotted screwdriver or a 1/4” wrench. Below you will find an exploded diagram and list of components which you will find

in your carton.

Please check carefully the contents of the carton before proceeding with assembly. Please read carefully the assembly instructions con-
tained on Page 3 before proceeding with assembly.

PARTS LIST

TOP BRACKET

®

REAR SUPPORT
BRACKET

FRONT SUPPORT
BRACKET

NOTE: Before assembling the unit check that you have received all the parts listed below.

Item Part No. Description Qty./Unit Item Part No. Description Qty./Unit
1 976763 Screw 12 8 975876-00 Snap-in Handle 2

2 976497-00 Sub-assembled 9 68335 1/4-20 Bolt 2

Vise Bracket L.H. 1 10 976497-01 Sub-Assembled

3 976500 Rear Pad 2 Vise Bracket R.H. 1

4 69521-01  1/4-20 Wing Nut 2 11 976493 Vise Jaw 2

5 8871 Flat Washer 2 12 975955 Swivel Grip 4

6 - 976496 Front Pad 2




-

TABLE TOP WORKMATE #79-008-04 ASSEMBLY

1

Place the vise jaws, finished side down with the edges containing the machined “V”
grooves aligned as shown in Fig. 2. The hole pattern in the centre of the combined

jaws should be oval in shape.

FLANGE

“V" GROOVES
SCREW LOCATION

FIGURE 1

2

With the flange on the support brackets facing outward, place one sub-assembled
Vise Bracket on the vise jaws FIG. 2.

Align the slotted holes in the top bracket with the screw holes in the vise jaws, using
screw #976763. Screw the vise bracket to the vise jaws.

Tighten all four (4) screws securely and repeat this operation with the remaining sub-

assembled Vise Bracket.

FIGURE 2

Assemble the 1/4-20 bolt, wing nut and flat washer as shown in FIG. 1 through the slot
provided in the sub-assembled Vise Bracket left hand and right hand.

CAUTION: When in use make sure the square shoulder on the bolt is engaged with
the square slot in the vise bracket.

SWIVEL GRIP

79| 4

-
=

FIGURE 4

5

The front and rear pads can now be put on the front & rear support brackets in loca-
tion shown FIG. 1.

Peel the paper off one side of the pad and centre the hole in the pad with the holes in
the front & rear support brackets and press pads on firmly.

FIGURE 3

Snap-in handles can now be assembled to the handle arms on the sub-assembled
HANDLE ARM Vise Brackets FIG: 4. Insert swivelgrips into holes on vise jaws.

FIGURE 5




TABLE TOP WORKMATE SET-UP FOR USE

Portable Table Top Workmate

You do not have to fasten your Table Top Workmate down permanently to a work bench or table top. Front and rear pads (FIG. 1) have
been supplied to be installed on the front and rear support brackets. Pads are supplied so that the unit can be used with minimal
slippage and to prevent the metal support brackets from scratching the surface on which you are placing your Table Top Workmate.

CAUTION: If using the unit at an angle it must be securely fastened as below.
Table Top Workmate Fastened Down with Wood Screws

Table Top Workmate is supplied with four (4) wood screws. (See Page 2).

Two (2) #10 clearance holes are provided in each of the front two support brackets.

FIGURE 6

Set the Table Top Workmate on the work bench or table top which you arergoing io fasten t'he Table Top Workmate. The line stamped on
two front support brackets should line up with the front edge of the work bench or table top in order to pivot the unitto80° without hitting
the Table Top Workmate handles. - -

Now you can screw your four (4) wood screws into the clearance holes provided.

If you want to remove your Table Top Workmate from the bench, just back off the screws (4) a couple of turns, slide the Table Top Work-
mate to you until you line the screw head up with the large hole in the front support bracket. Lift the Table Top Workmate up and you will
clear the screw heads.

When you want to put your Table Top Workmate back on the bench, locate front support brackets over the screw heads and push the unit
back until you stop. Now screw the four (4) wood screws down securely.

TABLE TOP WORKMATE ANGULAR ADJUSTMENT

If you wish to set the Table Top Workmate at an angle, loosen the two wing nuts (FIG. 3), pivot the table towards you until you have reach-
ed the position you would like to work at next. CAUTION: Tighten both wing nuts securely before starting to work on the unit, assure the
unit-is-secure to the table top. o :




{ VISE JAW OPERATION

The two vise handles adjust the jaws to a maximum 5 inch jaw opening. Because each handle works independently, the opening can be
4 tapered from 0 inches to 5 inches maximum.

Use of the swivel grips in the appropriate vise holes extend the vise capacity of the Table Top Workmate to maximum of 12",

120

= =
L @
S . S
4
: & f
R T ! H . -
0 = =7
\% 5n
FIGURE 7 FIGURE 8
Adjusting the vise jaws with the vise handles. Tapering the vise opening using the independent vise handles.

TABLE TOP WORKMATE HOLDING IRREGULAR SHAPES

Using the swivel grips in the appropriate holes and the independent action of
the vise handle, the Table Top Workmate can secure the most irregular
shapes.

FIGURE 9
Lets you grip objects that used to be impossible to hold.

Rotate the swivel grip to accept irregular shapes. Outside swivel grips extend
vise capacity for a 21 inch diagonal grip.

FIGURE 10




TABLE TOP WORKMATE APPLICATIONS

Holding parts to be sanded, planed, or As a drafting board or paint easle. Can be used to hold material while

sawed.

carving. e.g. duck decoys.

G

Sawing tubular pieces is easy when Similarly, vertical V-grooves in the face You'll want to use all of your power |
they are held horizontally in the of the vise jaws permit rigid vertical accessories more often. Take buffing
specially designed V-grooves running grasping of tubular objects. — it’s easier and more convenient with

along the face of the vise jaws.

the Table Top Workmate.

These illustrations depict only a few of the Table Top Workmate’s many applications.

UNIT STORAGE ON THE WALL

1. With the Table Top Workmate sitting in the collapsed positon
(horizontal) tighten the two wing nuts securely.

2. Pick up the Table Top Workmate with the flat face of the vise
jaws to you and the handles pointing upward.

3. Place the unit against the wall on the support brackets.

4. Next with a pencil mark the two #10 screw clearance hole
centres in the front support brackets.

5. After marking the centres take the unit down and put two

. Now pick up the Table Top Workmate as previously described

- The front support bracket has #10 screw head clearance hole.

1
i
.

#10 screws (not supplied) in the wall on the two centres mark-
ed in pencil. Screw in 3/4 of the screw length.

Point 1 and 2.

Mount the unit through the head clearance holes and let the Iy
unit down until it rests on the screws. PR




TABLE TOP WORKMATE ACCESSORIES

CAT. NO.
79-010
SWIVEL GRIP

Packaged in Pairs
Ideal for holding large and irre-
gular shaped objects.

CAT. NO. 79-011-04 @
GRIPMATE

Specially designed clamp assembly to hold
items on a work surface for glueing, routing,
sanding, sawing, etc.

CAT. NO. 79-013-04
ROUTERMATE

Professional Router cuts made easy. Holds
Black & Decker and other popular routers
securely on Table Top Workmate. Gives solid
“hands off” support for all types of router cuts.

CAT. NO. 79-012-04
MITREMATE

Clamps into Table Top Workmate vise to hold
material down securely for accurate mitre and
compound mitre cuts, accepts most popular
makes of 7 1/4” Circular Saws and is ideal for
cutting rafters, floor joist, studs, windows, base-
board and decorative trim.

Black & Decker
V- RAPID
EXCHANGE
SERVICE

The Workmate is guaranteed for one year from date of purchase. If you are not completely satisfied
with it, it will be replaced free of charge when returned to the seller (if a participating retailer) or to a
Black & Decker Service Centre. Proof of purchase and return of all standard equipment is required.
This guarantee is not applicable if the Table Top Workmate is used in commercial or rental service.

BLACK & DECKER SALES AND SERVICE CENTRES

HALIFAX, N.S.:
QUEBEC, P.Q.:
MONTREAL, QUE.:
LONGUEUIL, QUE.:
LAVAL, QUE.:

POINTE CLAIRE, QUE.:
OTTAWA, ONT:
BROCKVILLE, ONT.:
SCARBOROUGH, ONT.:
DOWNSVIEW, ONT:
TORONTO, ONT.:
HAMILTON, ONT.:
KITCHENER, ONT.:
LONDON, ONT.:
WINDSOR, ONT.:
SUDBURY, ONT.:
WINNIPEG, ST. JAMES, MAN.:
REGINA, SASK.:
SASKATOON, SASK.:
CALGARY, ALTA.
EDMONTON, ALTA.:
VANCOUVER, B.C.:
NEW WESTMINSTER, B.C.:

3695 Barrington St., Barrington Comm. Ctr., B3K 2Y3
2675 rue Dalton, Parc Colbert, Ste-Foy G1E 6A8
7865 St. Lawrence Blvd., H2R 1X1
1568 Chemin de Chambly, J4J 3X5
1930 St. Martin Blvd., H7S 1M9

3669 St. John's Rd., H9G 1X2

285 Richmond Road, K1Z 6X3

Central Avenue, K6V 4N8

729 Kennedy Rd., M1K 2C6

592 Champagne Drive, M3J 2T9

1180 The Queensway, M8Z 1R5

180 Parkdale Avenue N., L8H 5X2

671 Belmont Ave. W., N2M 1N8

631 Commissioners Rd. E., N6C 2V1
3707 Walker Rd., N8W 359

1496 Fairburn Avenue, P3A 1N7

934 St. James Street, R3H 0K3

1076 Albert Street, S4R 2P8

No. 4 - 1622 Ontario Avenue, S7TK 1S8
10083, 11th Avenue S.W., T2P 0G2
11440 Avenue 142nd Street, T5M 1V1
24 West Second Avenue, V5Y 1B5

301 Columbia Avenue, V3L 1A7

Black & Decker Mfg. Co. Ltd. Brockville, Ontario

FORM NO. 976501 MAY '78

PRINTED IN CANADA



NOTES

e

[EES——

g

oty

y

"

i L




Ce nouveau “Workmate” est un appareil d’atelier de grande qualité soigneusement congu et fabriqué pour un rendement sUrdes années
durant.

Ce mode d’emploi vous permettra de vous familiariser avec le “Workmate”. Il contient la description des éléments de sa fabrication ainsi
que la marche a suivre pour son emploi. Vous y trouverez aussi les instructions pour le montage ainsi que des illustrations de quelques
emplois types.

Lire attentivement ce petit manuel. En pleine connaissance des capacités du “Workmate”, I'usager pourra en tirer son plus grand
avantage a I'exécution des nombreuses taches pour lesquelles il a été congu.




LE “WORKMATE” DE BANC PRET A SERVIR
Le “Workmate” de banc portatif

lIn'est pas nécessaire de boulonner le “Workmate” au banc ou & la table de travail. Les tampons avant etarriére (vignette 1) fixés aux sous-
ensembles de montage vous permettront de vous en servir avec un minimum de glissement en plus de prévenir les égratignures a la
surface de la table sur laquelle doit étre placé le “Workmate”.

Attention: a 'emploi du “Workmate” en position autre qu'a I'norizontale, vous devrez le boulonner tel qu'indiqué ci-aprés.
Le “Workmate” de banc boulonné a l'aide des vis a bois
Quatre (4) vis a bois #10 (voir en page 2) sont fournies avec le “Workmate” de banc.

Deux trous de vissage pour vis #10 ont été percés dans chacun des deux ferrures de montage avant.

VIGNETTE 6

Placer-le “Workmate” de banc sur la table de travail a laquelle il doit étre fixé. Aligner les repéres gravés surles deux ferrures de montage
avant avec le bord de la table afin de permettre de l'incliner jusqu'a 90° sans que les poignées se heurtent a la table.

Maintenant, introduire les quatre (4) vis a bois #10 dans les trous de vis percés & cette fin dans les ferrures de montage.

Pour enlever le “Workmate” de la table de travail, desserrer de quelques tours les quatre (4) vis, tirer le Workmate vers soi jusqu’a ce que
les tétes des vis soient centrées dans les plus grands trous des ferrures de montage avant. Soulever le “Workmate” du banc; il se
dégagera alors de ses vis de fixation.

Pour fixer de nouveau le “Workmate” a la table de travail, centrer les plus grands trous des ferrures de montage sur les tétes des vis et
pousser sur le “Workmate” jusqu'a ce qu'il s'immobilise. Serrer alors & fonds les quatre (4) vis 4 bois.

LE “WORKMATE” DE BANC EN POSITION INCLINE

Pour incliner le “Workmate” de banc a I'angle voulu, desserrer les deux écrous a ailettes (vignette 3), incliner le “Workmate a I'angle qui
vous convient. Attention: avant d'entreprendre le travail, veiller a ce que les écrous a ailettes soient serrés a fond et que le “Workmate” soit
fermement boulonné & la table de travail. ) '

4

sy




FONCTIONNEMENT DES MACHOIRES

; Les deux manivelles permettent d’écarter les machoires & un maximum de 5” et, vu que ces manivelles fonctionnent indépendamment,
) 'usager peut écarter les machoires en angle de 0" & 5",

A laide des mordaches orientables introduites dans leurs trous percés dans les méachoires, la capacité en est accrue a 12",

—12n—]

VIGNETTE 7 VIGNETTE 8

Réglage des machoires a I'aide des manivelles Réglage en angle des méachoires, que favorise le fonctionnement
indépendant des machoires.

IMMOBILISATION D’OBJETS DE FORME IRREGULIERE

Grace aux mordaches orientables et au fonctionnement
indépendant des machoires, le “Workmate” de table peut retenir
les objets des formes les plus irréguliéres.

VIGNETTE 9

Immobilise les objets jadis impossibles a retenir.

Orienter les-mordaches orientables pourimmobiliser les piéces—
difficiles & manier. Logées aux extrémités des méchoires, la
capacité de serrage en diagonale est de 21 pouces.

VIGNETTE 10

T




USAGES DU “WORKMATE” DE BANC

P

Immobilisation de piéces a poncer, Fait fonction de table a dessin et Pour retenir les piéces a sculpter, les
raboter, scier. chevaler de peintre. canards de leurre, p. ex.

L'usinage de piéces cylindriques, De méme, les rainures en “V' verticales Vous voudrez vous servir plus souvent .
retenues a [I'horizontale dans les des méachoires permettent de serrer a de vos outils électriques. Le polissage,
rainures en “V” de conception spéciale la verticale les piéces de forme par exemple, est plus facile avec le |
des méachoires, devient petit jeu. cylindrigue. “Workmate". A

i

Les vignettes n’illustrent que quelques emplois du “Workmate” de banc.

RANGEMENT AU MUR

1. Le “Workmate” de banc en position fermée (horizontale), #10 (non fournies) aux endroits indiqués par les marques de
serrer & fond les deux écrous & ailettes. crayon, les enfongant & 3/4 de leur longueur.

2. Ramasser le Workmate de banc la face unie des machoires 6. Ramasser de nouveau le “Workmate” tel qu'indiqué aux
vers votre corps et les poignées pointant vers le plafond. articles 1 et 2.

3. Appuyer les sous-ensembles du “Workmate” contre le mur. 7. Les ferrures de montage avant sont percés de trous pour vis

4. A l'aide d’un crayon, introduit dans les trous de vis #10, tracer #10. Introduire les tétes des vis vissées au mur dans ces trous
le profil des trous sur le mur. et laisser pendre le “Workmate” contre elles.

5. Ensuite, placer le “Workmate" sur le plancher et visser deux vis



ACCESSOIRES DU “WORKMATE” DE BANC

N° DE CAT. N* DE CAT. L &
79-011-04 =

79-010-04 ®
“GRIPMATE" %

MORDACHES ORIENTABLES
Congu tout spécialement pour retenir les piéces
a coller, a fongonner a la toupie, a poncer, a
scier, et quoi encore.

Jeu de deux. Pour retenir les
gros objets de forme irréguliere.

N° DE CAT. N° DE CAT.
79-013-04 79-012-04
“ROUTERMATE" “MITREMATE"

Se loge fermement entre les méachoires du
“Workmate” pour retenir bien en place les piéces
a ouvrer en onglets ou en biais. S’adapte a la
plupart des scies circulaires 7%”. Tout indiqué
pour le trongonnage de poutres, lambourdes de
planchers, colombages, plinthes, cadres de
fenétres, moulures.

Becceau de toupie pour faciliter le toupillage.
Retient fermement les toupies B & D ou d’autres
marques en surface du “Workmate”. Laisse les
mains libres pour fagonner toutes sortes
d’'évidages & la toupie.

, Black & Decker
GARANTIE Le “Workmate” est garanti pour un an a compter de la date d’achat. S’il ne vous procurait pas
- - entiére satisfaction, il sera remplacé, sans frais, en retour au détaillant (s’il s’agit d’'un détaillant
D’ECHANGE  accrédité) ou a un Centre de service Black & Decker, accompagné d’une preuve d’achat et de tous
RAPIDE les accessoires d'origine. Cette garantie sera nulle et sans effet si le “Workmate” modéle de banc
est employé en service commercial ou offert en location.

CENTRES DE VENTE ET DE SERVICE BLACK & DECKER

HALIFAX, N.-E.: 3695 rue Barrington, Barrington Comm. Ctre.,
B3K 2Y3
QUEBEC, P.Q.: 2675 rue Dalton, Parc Colbert, Ste-Foy, G1E 6A8

MONTREAL, QUE.:
LONGUEUIL, QUE.:

VILLE DE LAVAL, QUE.:
DOLLARD-DES-ORMEAUX;
QUE.:

OTTAWA, ONT.:
BROCKVILLE, ONT::
SCARBOROUGH, ONT.:
DOWNSVIEW, ONT.
TORONTO, ONT.:
HAMILTON, ONT.
KITCHENER, ONT.:
LONDON, ONT.:
WINDSOR, ONT.
SUDBURY, ONT.:
WINNIPEG/ST. JAMES, MAN.:
REGINA, SASK.:
SASKATOON, SASK.:
CALGARY, ALB.:
EDMONTON, ALB.:

VANCOUVER, C.B.
NEW WESTMINSTER, C.B.

BLACK & DECKER MFG:

7865 boul. St-Laurent, H2R 1X1

1568 Chemin de Chambly, J4J 3X5
1930 boul. St-Martin, H7S 1M9
Centre d'achats Blue Haven,
3669 Chemin St-Jean, H9G 1X2

285 Chemin Richmond, K1Z 6X3

100 Avenue Central, K6V 4N8

729 Chemin Kennedy, M1K 2C6

592 Avenue Champagne, M3J 279
1180, The Queensway, M8Z 1R5

180 Avenue Parkdale Nord, L8H 5X2
671 Avenue Belmont Ouest, N2M 1N8
631 Chemin Commissioners Est., N6C 2V1
3707 Chemin Walker, N8W 3S9

1496 Avenue Fairburn, P3A 1N7

934 rue St. James, R3H 0K3

1076 rue Albert, S4R 2P8

N° 4 - 1622 Avenue Ontario, S7TK 1S58
1003 - 11e S.0., T2P 0G2

11440 Avenue 142e rue, T5M 1V1

: 20 Ouest, Deuxiéme Avenue, V5Y 1B5
: 301 Avenue Columbia, V3L 1A7

CO. LTD. BROCKVILLE, ONTARIO

FORMULE 976501

MAI 1978

IMPRIME AU CANADA



NOTES




